LABJNDuO triangle lightnesst*
o Yac=Yw  nc=100,

t*LABINDU9 =[IN[(A 17+A20Y)V(A 20A0n)] (Ynd/100<Y<=Y, ()
t*(3.6)=146 1+ ,(18)=332,t* (90)=517

log[t*/t* ,]=0, m;=0,33
L* =49, t* ;=332
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LABJINDu9
tristimulus value difference
Yoc=Yw - nc=100,

L aBINDU9 =[INI(A 1r+A2)I/(A 2nA0n)] (Yae/100<Y<=Y,0)
dY=Agn(A1+AzY)  Aq=0,017, A,=0,0058
Aonpss=1,5, Aon a=1,0, see CIE 230:2019
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t*,=332 dY,=0,16 dY,/(,=0.4092 ¢ *
[ —um2ns SR B D
log(dY)=0,16 m=C,93
application’
range
ly,=18
Yw=90

Yn=3.6

log (AY/Y) LABJINDU9
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

L aBINDU9 =[IN[(A 1 +A2)I/(A 2nA0n)] (Yao/100<Y<=Y,0)
AYIY=Ag A1 +AZYVY
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log (Y/AY)
C,=(Y/AY)

LABJINDu9
tristimulus value contrast

Yoc=Yw - nc=100,

L aABINDU9 =[IN[(A 1r+A2V)I/(A 2nA0n)] (Yo 100<Y<=Y,0)
YIAY=Y/[A on(A 1n+AY)]

t+,=332 dY,=0,16 Y,/dY,=107
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log(Y/dY)=2,03 m,=008 1 —————
! application
1 range
'Y,=18

1 Yy =90
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LABJINDu9 relative triangle lightnesst*/t*,,
Yoc=Yw - nc=100,

t*LaBINDug =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
t(3,6)=146 1 ,(18)=332,*,/(90)=517

CEM90-2A
log(AY/AY,)
AYIAY,

LABJNDu9 relative
tristimulus value difference

Yne=Yw nc=100,
t*LaBINDug =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
AYIY,=AgfA 1 +AgYI/dY,

a;plicatijn-
range
1y,=18
Yw=90

log [(AY/Y) I (AYIY)] LABJINDUY relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

t* LaBINDug =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
@YIYYAYY,=(AgAg Y)Y (AYIYY]

&
e Y FFE N R
log[(dY/Y)(dY/Y)1=0, m;=-0,06 -
*,=332 dY,=0,16 dY,/Y,=0,0002)  gPplication
1y,-18
V=90

YN=3.6

log [(Y/AY) I (YIAY),] LABJINDU9 relative
tistimulus value contrast

CelCru=(YIAN(YIAY)u ¥, =Yy, . =100,
t*LagaNDug =[IN[A 1n+A2nV)I/(A 20A0n)] (Yo 100<Y<=Y, )
(VY Y(YIAY ) =Y IYIAY )T oA g Agr V) (Y/AY),
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t+,=332 dY,=0,16 Y 42207 1 —_—————
1 application
1 range
1y,=18

Yy=90
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